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 [Model Test-02B_XII(14-15)_    Apr’14]                     Class-XII     [F.M-30/Time-50min.] 
PROBLEMS DETERMINANT 

1. Evaluate : cos15 sin15
sin 75 cos75

 

 
          [1] 

2. Find the minor of the element of second row and third column (a23) in the following determinant:  
2 3 5
6 0 4
1 5 7





.            [1] 

3. What positive values of x makes the following pair of determinant equal?   2 3 16 3
,

5 5 2
x

x
 [1]  

4. Find the co-factor of a12 in the following: 
2 3 5
6 0 4
1 5 7




      [1]  

5. Write the value of the determinant   
2 3 4
5 6 8

6 9 12x x x
.      [1] 

6. Write the value of the determinant   
a b b c c a
b c c a a b
c a a b b c

  
  
  

.      [1]  

7. Using properties of determinants P. T, :  2
x 4 2x 2x
2x x 4 2x (5x 4)(4 x)
2x 2x x 4


   



   [4] 

8. Using properties of determinant, solve for x :  
2 2 3 3 4
4 2 9 3 16 0
8 2 27 3 64

x x x
x x x
x x x

  
   
  

   [4] 

OR,  Using properties of determinant, prove that,  
1 1 1
2 3 2 1 3 2 1
3 6 3 1 6 3

p p q
p p q
p p q

  
   
  

 

9. Show that, 
x 1 x 2 x a
x 2 x 3 x b 0
x 3 x 4 x c

  
   
  

   where a, b and c are in A.P.     [4] 

OR,  Using properties of determinants P. T, :   4
b c a a

b c a b abc
c c a b


 


 

10.   Using properties of determinants P. T, : 3
a b c 2a 2a

2b b c a 2b (a b c)
2c 2c c a b

 
    

 

   [6] 
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OR,  Using properties of determinants, P. T. :  3 3 3
a b c

a b b c c a (a b c 3abc)
b c c a a b
      
  

   

11. Using properties of determinants, show the following : 

2

2 3

2

(b c) ab ca

ab (c a) bc 2abc(a b c)

ac bc (a b)



   



. [6]  

OR,  Using properties of determinants, prove the following 

2 3

2 3

2 3

1
1 (1 )( )( )( )
1

x x px
y y py pxyz x y y z z x
z z pz


     

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